IV' CAREERINDIA

No. of Printed Pages : 24 6733

udley eremr
Register Number

PART -1II

sewflGlumiluiwed / COMPUTER SCIENCE

(Vocational Component under General Stream)
(WP wHmId Y midle el / Tamil & English Versions)

Gy : 3 et | [ Qurgg wIHlGuemser : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
SMeyewy : (1) Awarsg elarss@pnd sflurs udeurd o drersm erearLsenar

Instructions :

GOILy : (@)
(i)
(i)
(iv)

Note : ()

sflurTggs Qametereyd. &&HLLS el @Gammudmider, amnd
sagrentliumerflib o L amnquitgsd Ggflelléseayb.

(2) smuy ewullenar WL HGWL ergUSHEGL g&ECHTIE(HeUSDE LW
Lweru®hss Caler (. ULBI&ET euengeugm@ Olueardle
LweT (H&&eLD.

(1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Black ink to write and underline and pencil to draw diagrams.

UGS -1 -6 2 6Ter eansgl (Ldeuams alarTsEser) 6lemss @ns L
(1 s 75 auenr) &G euprisliLL(Heremr OMR aflenL_gsmatled L (HGL
evLweflg&s Couar®ib. (OMR allenLgsmailed 2 erer 2idlayamyeniid
STEHTS )

eNemmggreT cuagl LS epenauiler Sl (Herer ‘wm’ (dash) @GDIE eTHS
camamisamasuila o ararCsr 2s5HCsHL OMR alenL_gsmafled [mm] (1)
Sdws) (] (2) Sibes) [ ] (3) e [ =] 1) T
&L smLL enwulerme Blipedl i Gealam(hib.

elerm erawr&er 1 (pge 75 eueny 2 6Ter eNaTTEsEhsE @ edlen L et &s
@&l CoBrd wpse 75 HILOIL BIsET o, @L.

LGS I womibd ugd 1I-é 2 drer llammésErsE (76 P e 110 cueny)
wpaenen el _ssrafler efen wiefldss Couamr(hLbd.

Candidates should answer all the questions in PART - I (Objective type) (1 to 75)
in the separate OMR Answer Sheet supplied. (Refer instructions given in the

OMR Answer Sheet).
The number of the sign “mm” (dash) as found in the right - hand top corner of the

Question Paper i.c. [mm] (1) or [mm ] (2) or [ m mm] (3) or [ e me mm] (4)
should be shaded in the OMR Answer Sheet using Black ink.

Time allotted for answering question numbers 1 to 75 is first 75 minutes.
PART-II and PART-III questions (76 to 110) should be answered in the main
answer-book.

[ Spliys/Turn over



IV' CAREERINDIA

6733 2

u@d) - 1/ PART -1
Qar@ssliulL. BremE el salled Wse|b ghyeuw edlenLulener
Carbos0ss GO OLear eleulamarnb Carsg er(ps)s. 75x1=75

Choose the most suitable answer from the given four alternatives and write the option
code and the corresponding answer.

1. C++ -@ int -grefengdler eurbLy wHL :

(A) —32678 to 32767 (B) —32678 to 32768
(C) —32767 to 32767 (D) —32768 to 32767
In C++, the range of int data type is :

(A) —32678 to 32767 (B) —32678 to 32768
(C) —32767 to 32767 (D) —32768 to 32767

2. Real Audio/Real Video Liig@ild eThg ,a@0m(h 2 (HUDSSLILIL L & ?

(A) 1995 (B) 1982 (C) 1992 (D) 1985
In which year the Real Audio/Real Video format was developed ?
(A) 1995 (B) 1982 (C) 1992 (D) 1985

3.  ebs gredl Garoragansll LWaTUHSS sre|sger il L euenamenil CaLsléseamd ?

(A) Cul+N (B) Cul+ A (G Ctrl+S (D) Ctrl+F
Which key combination is used to save a table in database ?
(A) Ctul+N (B) Cul+A (C) Cul+s (D) Cul+F

4. GIF erggemen saumeanl euameantss(H SeLUND@G6ET L mdlwig ?

(A) 16 (B) 256 < 8 (D) 32
GIF is limited to how many bit palette ?
(A) 16 (B) 256 < 8 (D) 32

5. gl ailiel@psuigCu Qaarwusder auflwurs cund Comousmen [&T
aumiiueflsSlng) ?

(A) Sepliysal euwib (B) e - smHmed

(C)  Wer - seLF CFevay (D) e - aumidly Coanau

Which permits banking from the comfort of the home by using internet facility ?
(A) Call center (B) e-Learning

(C) e-Shopping (D) e-Banking
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GVLITT o olNle epgltfled Format — Page &L anemenwid Core| CFslgTed 6Ths
o enrwirLed Cul'lg Ggremmid ?
(A) senaLiL (B) uwss el (C) algaplld® (D) &GOl

In StarOffice Writer, which dialog box is opened when we select Format — Page
command ?

(A) Header (B) Page Style (C) Format (D) Footer

C++ -6 leeumbd Sjemtluflern oj6eme| crevmen ?

float y[6][4];

(A) 24 evu_(hser (B) 48 evu_(h&er
(©) 10 epu_(haer (D) 96 evu_(h&eT
In C++, what will be the size of the array ?

float y[6][4];

(A) 24 bytes (B) 48 bytes

(C) 10 bytes (D) 96 bytes

C++ -, s76y 2 MILILSET @elairn enpsslil(hdng) :

(A) 2puiyEF Qewmnsamser (B)  LI6W0TL|&8n MI&6T
Q) auflpemsar (D) Qum(meTser

In C++, data members are also called :

(A) member functions (B) attributes

(C©) methods (D) objects

sl Lliypwrer pennudled e sanfliiGlumml wpeppenioudleh jevevg) leneamTiisle
BIGHLOEIENS GTAIGUTN HEDLPESHETD ?

(A) e.flenwuferer BEHOTESSLD (B) m&& Hlyed

Q) Sirar 2 L5560 (D) sewiluGurm @&GHmb
Which is illegal access to the network or computer system ?

(A) Piracy (B) Virus

(©) Cracking (D) Computer Crime
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QgrLés sre Hreorss Qurflseaion o drafl (), Qeuallilhs sreys samser

@eueurm enEHWITETLILIL L 6T -
(A) &rey (B)  Glummer (©)  wmlse (D) Qessw

In the early programming languages, the input and output data items were represented
as:

(A) data (B) object (C) variables (D) class

LTI oolloy enplifled Gemeumetameldmer 6rgl OBETT 6T (PSS
UMSWIT@GLD ?

(A) Times New Roman (B) Symbol

(C©) Wingdings (D) Fajita

In StarOffice Writer, which of the following is the decorative font ?
(A) Times New Roman (B) Symbol

(C©) Wingdings (D) Fajita

< sdluflen QU erger QuWFTEGou @)\MH&s Ceuamt(hHid ?

(A)  Gumrmer (B) Gewpsmm (O QeasEw (D) euplepanp
The name of the constructor must be same as that of what ?
(A) object (B) function (C) class (D) method

H5H 50 Fanae Sanguller evwwidF greryll AfleNe erssemen 556 (Tabs
&3S o5 855 ( )
GDSET 2 cTere ?

(A) Brang () <o ©)  epam (D) &@bs
In Presentation window, how many tabs are there in the center pane ?
(A) Four (B) Six (C) Three (D) Five

C++ -&0 @aummier ergl QFunH@H srey FIUL g Srey Cumibd CFwmnaEsm
A GLD ?

(A) < B > (©) << (D) >>

In C++, which one of the following is the extraction or get from operator ?

(A) < B > ©) << (D) >>
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SlanidlweL euenrumiliben @eleumrm smeord :
(A) Qars@p o-miiLy (B) ecue»rlwerene
(C) wryfwid (D) amawr HleneiLmmi,
Access specifier is also referred to as :
(A) class member (B) scope
(C) inheritance (D) visibility mode
BPO -eir eflfleumdaibd :
(A) Business Processing Outlet (B) Business Process Outsourcing
(C) Business Process Output (D) Basic Process Outsourcing
BPO - stands for :
(A) Business Processing Outlet (B) Business Process Qutsourcing
(C) Business Process Output (D) Basic Process Outsourcing

@eupmieT et (h LSledlen Ljewmisamer b @enl GeuaflaCGerm(H &TL_(Hb Feny
BB ?
(A)  lareued (B) <M&ans Q) eugslly (D) ulged

Which one of the following is simply a screen that displays the fields of a record in a
well-spaced out manner ?

(A) Query (B) Report (C) Filter (D) Form

CH+ -6b eTelT UENSE: QETOTHMD (PSS (PSS TNSF FTTHSH ?

(A) s Golpap (B) Qases Camiy
Q) Quse BlansGami (D) Hlyed Quwirng
In C++, integral promotions are purely what oriented ?

(A) source code (B) object file

(C) executable file (D) compiler

sreydser L Lalmaruie egaideurm GQrHeuflensuyd @eieurm
<DP&5LLINS DG ?

(A) aufleng (B) yeuld Q) SilLeuamant (D) udley

In Database Table, each column represents :

(A) Row (B) Field (C) Table (D) Record

[ Smliys/Turn over
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LT ooldlen Cuedled, Gy ojwag HeusuCGoum sre s srmisaien cerm
SDOG @aTNIFH@ COHUL L UL cumeansailal(mhg Sresamer earn Card@Ld
QEHUITLEL GTEUAITN PSS ?

A) GCgLa (B) euflengwm&sid

(C) Gargsed (D) eulg&L L6

In StarOffice Base, which is a process of joining data from two or more tables of the
same or different database ?

(A) Searching (B) Sorting
(C) Merging (D) Filtering

cl&lamens (Visicale) o (heumdsLlii L 6T :
(A) 1982 (B) 1999 (C) 1979 (D) 1959
Visicalc was developed in the year :

(A) 1982 (B) 1999 (C)+ 1979 (D) 1959

C++ -o Oewupsgm uvafllgly, Gsun@md ueiwbl@ly peob e6rg
HeopGeuppliLGEng ?

(A) eerCurdlurgsid (B)  LIeOIHeUTEHSLD

(C) Qewpgam (D) wryfwod

In C++, which is achieved through function overloading and operator overloading ?
(A) Encapsulation (B) Polymorphism

(C) Function (D) Inheritance

Ct+ -6 g WL&Her 2 L HuGduder @QL1b QUMD 6THE S LneT, ASHESL
e o eimer &L Leneraser HleanmGeummiilLmod L sSlamear HSS FPHEl&EE
@L(H& Caaaibd ?

(A) continue (B) break (C) return (D) size of

In C++, which statement forces the next iteration of the loop to take place, skipping
any code that follows it ?

(A) continue (B) break (©) return (D) size of
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R Qers Gpedlalmbgl 9D Qars GWEseT SMHetlssl Lmwruer s
GleUeUTM SMLPSSHTLD :

(A) SiglienL. QerdE (B) QummeT QendiE(p

Q) smeGSILLL. @QemdH (D (D) Qewmnsam @ersEp

The class from which the other classes are derived is called :

(A) Base class (B) Object class

(C) Derived class (D) Function class

Q@@ yereflow yaasdar Qndlss psToaiusNE <iWss Coudiw

@urrgg,rre;irrasm wrened ?

(A) Ctrl + Home (B) Ctrl + End
(C) Shift + Home (D) Shift + End
Which keys are pressed to move the insertion point to the end of a document ?
(A) Ctrl + Home (B) Ctrl+ End
(C) Shift + Home (D) Shift + End

Gemelmid smpmis@ Blred CLwimil ereer Wenpenwd &L (HLD :
if (a<b);

cout<<“Greater”;

else

cout<<“Smaller”;

(A) misplaced if (B) misplaced else

(C) misplaced if else (D) statement missing;
What is the error thrown by the compiler for the following snippet ?
if (a<b);

cout<<“Greater”;

else

cout<<“Smaller”;

(A) misplaced if (B) misplaced else

(C) misplaced if else (D) statement missing;

[ Smliys/Turn over
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ahs srellF Cerwrarsansl LWaTLBSSH VL TTooTev @ bUGFe-ed
Soogsaner &FSlLeomd ?

(A) Alt+P (B) Shift + P

(C) Cul+P (D) Ctrl + Shift + P

Which key combination is used to print slides in StarOffice Impress ?
(A) Alt+P (B) Shift + P

(€ Cul+Pp (D) Ctrl + Shift + P

VLTI ol9l6 &TdHD eThg Ll QeubHumiqe)erer miamameanpuied 2 erers
sregemer GeueflgasTi L1 Lwetu®hEng ?

(A) Qummer LlenL (B) Hleneots LianL

(C) o (meT LLenL (D) eumum(hu ulenL

In StarOffice Calc, which bar is used to display the current cell and its contents ?

(A) Object bar (B) Status bar

(C) Scroll bar (D) Formula bar

C++ -6, ojawfl erammig) 6THS sredlear euensLLI(HLD ?

(A) smelssluLl L (B) uwwenm euenuienm
Q) o dmaflanantBs (D) s h®

In C++, the array belongs to which data type ?

(A) derived (B) user defined

(C) Dbuilt-in (D) structure

CBT - e edfleurssd :

(A) Computer Based Tools (B) Computer Based Technique
(C) Computer Based Tutorials (D) Common Based Tutorials
CBT - stands for :

(A) Computer Based Tools (B) Computer Based Technique
(C) Computer Based Tutorials (D) Common Based Tutorials
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QuickTime Liigeugdlern CariLser @Qns edlfleneusd Clasrear(Hererg) :
(A) .snd (B) .mov (C) .swf (D) .wmf
Files in the QuickTime format have the extension :
(A) .snd (B) .mov (C) .swf (D) .wmf

o655 SmesCGared @ sSreysser L eumenuller em Udlmel
safsserenCur® @GNsEn @m HneCareor@n ?

(A) st (B) euemeTWenLoLIL]

Q) enerms Csmiiy (D) wuigbHlene

Which is a key that uniquely identifies a record in a database table ?
(A) Primary (B) Network

(C) Flat-File (D) Hierarchical

Sre|samer|bd, CFuhImmsmeTud @@ CUTHET UMTLMMDEGET 6T
Yenemrs gl eneus@h ClFwe MU @eleurn SmwpssULIBEng

(A)  LEOIHEUTEELD (B) Qumager

Q) QasEWw (D) oem QuUIlurssDd

The mechanism by which the data and functions are bound together within an object
definition is called as :

(A) Polymorphism (B) Object
(C) Class (D) Encapsulation

LT Bpooldle enrlLfled eThg Fmaflepwis LweaTLhigS Cerhaetien er(psSgiL
Yenpenws Ffl Qaub 2 erur o Guligewl Qupemd ?

(A) F7 (B) Fo (©) F5 (D) F4
In StarOffice Writer, which key is pressed to select the spelling check dialog box ?
(A) F7 (B) Fo (©) F5 (D) F4

C++ -0 e1g) e Blanamous (pseuflens erm@d wrmHl G ?
(A) &L (B) ommled

©) sLGuurl® siLemer enwlil (D) WL&G

In C++, which is a variable that holds a memory address ?

(A) pointer (B) constant

(C) control structure (D) loop

[ Smliys/Turn over
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emeumeuareuDmeT 6Tg L && CarliLsemer 2 (heuambdsll Ler (hHb
CerGlLmmeT jde ?

(A) Flash (B) Maya

(C©) Notepad (D) DreamWeaver

Which one of the following is not a multimedia content development software ?
(A) Flash (B) Maya

(©) Notepad (D) DreamWeaver

C++ -6 lYemeumedemeummled 61 @lemd@peilen amdlcL] euanrumiriyl e ?
(A) public (B) private (C) pointer (D) protected

In C++, which of the following is not a class access specifier ?
(A) public (B) private (C) pointer (D) protected

C++ -ab e eu(heuamaudmET 6rg cuanpGliedenay SioraflLg QFEun@n @b ?

(A) - B) & « = (D)
In C++, which of the following is a scope resolution operator ?
(A) - (B) & © (D)

@eunmieT eTgl e eadl LISl Gler Clummerm@n ?

(A) JPEG (B) Vector Graphics
(C) Modeling (D) Sound Forge
Which one of the following is a sound editing program ?

(A) JPEG (B) Vector Graphics
(C) Modeling (D) Sound Forge

QR 2T elassle Cale Cell auflens geenn CFHS 2 Ha b S L 06T :

(A) Edit —» Cut (B) Format — Paste

(C) Edit — Paste Special (D) Edit —» Copy

The command to insert a range of Calc Cells into a text document :
(A) Edit —» Cut (B) Format — Paste

(C) Edit — Paste Special (D) Edit —» Copy
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LO(EGIeULT CILILIMILITEUGRILD GTSSEME (PSETENLOWITE Llig. Hlencigenends ClamerT g :

(A)  epery (B) Qrew( © prag D) &ps
How many main steps are there in medical transcription ?
(A) three (B) two (C) four (D) five

WLTTYoollov  Guev-60 o ars soalysmers Casrarl o ap
2 euasS0(BHg eThS QevanlLgamers Gaimey QFISTER HHPESNISHEET 2 ani
cuflengerwgd CamasTD ?

(A) File — Outline to Presentation

(B) File - Send — Outline to Presentation

(C) Format — Outline to Presentation

(D) Format — Send — Outline to Presentation

In StarOffice Base, which command is used to insert a text outline into a presentation ?
(A) File - Outline to Presentation

(B) File - Send — Outline to Presentation

(C) Format — Outline to Presentation

(D) Format — Send — Outline to Presentation

VLTI ul9e sTev&SlD, srajsamer eraflsrs Lflhg CQsmerer 2 gajeaig erg ?

(A) eumwium@ (B) &mmy&eT

(C)  Qummer (D)  eUe»FLILTBISET

In StarOffice Calc, which is used to make data easier to understand ?
(A) formula (B) functions

(C) object (D) charts

Ct+ -& uwalll@ss CEwDFmMEET CTEUEIMSUITET 6T L (Fd S 6 6
cramanflEamaudCar, <eupdler srea| @emigealGor Coumul 4 (més CouammHib ?
(A)  Quuiwimer (B) (peasilwiedLy
(S RCTNIE (D) wepwre

In C++, each overloaded function must differ either by the number or their datatype of
which parameters ?

(A) actual (B) default

(C) reference (D) formal

[ Swliys/Turn over
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GVLITT Do ole enFlLifleb e L LcuanenTudled HHmenma(@HeH@eT (PETLDLDTE
B&TeUSN@ eThg QurssTenear LwaL(hss Ceuar(hid ?
(A) Shift (B) Ctrl (C) Alt (D) Tab

In StarOffice Writer, which key is used to move forward through the cells in the
table ?

(A) Shift (B) Ctrl (C) Alt (D) Tab

T QFwnamm CFwnHsmHdlen &L eTHeT (PLPELOWLD HPLILIE FmDHmiSHEL
udleors LG Hlreller QFmsledi(Hid ?

(A) void (B) main (C) return (D) inline
Which function inserts the function’s code directly into the calling program ?

(A) void (B) main (©) return (D) inline

Ct+ -a eThg WwdHlliemuibd Hmuilwenliurg Fwnsmm @eieurn iPleldsiiuL
Couemt(Hd ?

(A) void (B) int (€©) inline (D) main

In C++, the function that returns no value is declared as :

(A) void (B) int (C) inline (D) main

ThsL QUTSSTEnen |(PSGHeuser epeld HEDSFHISme CgTL_RigGomDd ?
(A) F2 (B). F11 (C) F5 (D) F7
Which key is used to start presentation ?

(A) F2 (B) F11 (C) F5 (D) F7

@Qang@weiler o LU Qass Gasrar® pomit GunSng :

(A) 7 (srpyerafl) (B) : (@peop wp&smhLETe)
©). - (yeraf) (D) (Sieontieral)

The body of a class is terminated by :

(A) , (comma) (B) : (colon)

(C) . (dot) (D) ; (semicolon)
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T8l saanangSTCar BEHSHIL LmESs Carear® seauluCurmuid Cailsg)
MEUSHIETET HTe|HER&GD, CaTULEER&S@GD LTS hUBhSss Snigwgl ?
(A) p&& erHmng Bl (B)  Siranr 2 L5560

Q) e fenwuler BsLTESLD (D) mB&s Hlyed

Which is a self-replicating program that can cause damage to data and files stored on
the computer ?

(A) Antivirus (B) Cracking
(C) Piracy (D) Virus

G6meu(BLDd DL &) THSEMET (LPenMm @UIBIGLD ?

for (m=0; m<6; m++)

(A) 6 (B) 7 © 5 (D) 4
How many times the loop will be executed ?

for (m=0; m<6; m++)

(A) 6 B 7 © 5 (D) 4

sL(uur®h, Blreler em L@Huladmbg Qeartarmm LUEH&EES sTeeusnEHs
sTrenTomen Blye) Fahmiger @eueurm enpsslLhEng ?

(A) e drefl_( (B) Qeuaflui®

Q) sLUuurl(h& S L ewLIL|&6T (D)  wHUAmIEs)

Program statements that cause a jump of control from one part of a program to another
are called :

(A) Input (B) Output
(C) Control Structures (D) Assignment

LTI olbloy &TO&HD Thg @GMlewws CasrhHluuger pold AbHS
HIERTERTEDEnL, S&&5s HiaTenTenn (ol QST srs &8 (plgUbd ?
(A) 5 (B) # ©) ! (D) &

In StarOffice Calc, which one of the following sign is used to make the cell, absolute
cell address ?

(A) $ (B) # <o ! (D) &

[ Swliys/Turn over
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QUGS L6 GTETLIGI 6(ThH GUMS !
(A) il Leuewent (B) ollemeued (C) ugeIb (D) <Msans
A filter is also a type of :
(A) Table (B) Query (C) Form (D) Report

VLo olGl6 STeD&SHD 6T e WGH WS LwemhSSIUHLD Friy ?

(A) SQR (B) AVG (©) SsuM (D) POW
In StarOffice Calc, which one is the most commonly used function ?
(A) SQR (B) AVG (©) SsuM (D) POW

Gemeumd Hlred Qgr@sdluder o arer wmdl ‘a’ -6 euenyblcenay wirg) ?

if (x>y)
{
int a=x;
at+;
}
(A) Gariy (B) Qewmgnm (C) 2 dTeTenLo (D) Q&G Ww
In the following snippet what is the scope of the variable ‘a” ?
1if (x>y)
{
int a=x;
a++;
}
(A) file (B) function (C) local (D) class

LT ooldlen enrlLifled @am&@n Coupul L eauflamssamer Csrss Ths
sl Lener LiwetL(hiSmg ?

(A) - Insert — Table — Rows (B) Table — Insert — Rows

(C) Table - Rows — Insert (D) Format — Rows

In StarOffice Writer, which command is used to insert more than one row in a table ?
(A) Insert — Table — Rows (B) Table — Insert — Rows

(C) Table - Rows — Insert (D) Format — Rows
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VLMo olGlev engiL_fled erBg Frell Campreangens LweaLhSS e LsSHenw
e @amsa| GFliwemd ?
(A) Ctl+C (B) Ctl+A (C) Ctl+E (D) Ctl+L

In StarOffice Writer, which key combination is used to center align paragraph ?
(A) Cul+C (B) Cul+A (C) Cul+E (D) Cul+L

BlEDESHIFH 2 (Hheuannds Lwe(helgl eTgl ?

(A) VLTS eolb6n enrl L ir (B)  GULTTSYoolGe &IOS
(C) VLTS olbev @bLiClyen (D) VLTS ollav GLign
Which is used to create presentation ?

(A) StarOffice Writer (B) StarOffice Calc

(C) StarOffice Impress (D) StarOffice Base

WLTTyoollov  sredgdler 1Gp uvwearur@Gsealladl@mbg @ollysmer
S Leuenamuier Cargs @eupmier erpsll LanllE@n 2 godlng ?

(A) Insert OLE Object (B) Insert Applet

(C) Insert Floating Frame (D). Insert Movie and Sound

In StarOffice Calc, which icon is used to insert objects from other applications into a
worksheet ?

(A) Insert OLE Object (B) Insert Applet
(C) Insert Floating Frame (D) Insert Movie and Sound

RCraurm Qarsgamel SgliumLwnrss Cdarar( Smedldsiul L
Q&G (L6l 2 (HEUTHGH6UG)

A) we eufdl wryflob (B) e aufl wryflod
(C) seliy wryflobd (D) ue Blened WLl
When a derived class inherits only from one base class, it is known as :
(A) Multiple Inheritance (B) Single Inheritance

(C) Hybrid Inheritance (D) Multilevel Inheritance
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64.
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C++ -0 erg) WIHM (PigITs wHliemLS QETETL e ST6y eSleurDd <,@L.

(A)  wrdledser (B) Hmsss GHEer

Q) fplys Qerhser (D) @Ml Quwirger

In C++, which are the data items whose values cannot be changed ?
(A) constants (B) punctuators

(C) Keywords (D) Identifiers

Ct++ -e L0l& p&Slwibrer UL &snm

A) QasEWw (B) & (C) Ml (D) sLBH®
The most important feature of C++ is the :

(A) class (B) pointer (C) wvariable (D) structure

C++ -0 Qfluller QUi et GHlevw (perlermiimrs Q&ETaTiy (HHESL ?
(A) ~ (tilde) (B) + (plus) (C)  ++ (increment) (D) ! (NOT)
Which character prefix the destructor name in C++ ?

(A) ~ (tilde) (B) + (plus) (C) ++ (increment) (D) ! (NOT)

C++ - ewiluflen 2 miliQuamanflaens riiGUrgIDd @B eraenTs @)(HSEGLD
A) GCgdl (B) - Cmriw (C) erdliro (D) Wsemaeu
In C++, the size of the array should always be :

(A) Date (B) Positive (C) Negative (D) Float

ST6| S(HEUTSGSD @6 epeld FTESHwbrSng)

(A) LOIHEITESLD (B) wryflwmd
(©) srey wenpLiy (D)  =1ewil
Data abstraction is achieved through :

(A) Polymorphism (B) Inheritance
(C) Data Hiding (D) Array
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R Qens@paie crsgsemar PLGser @)L b Cumemd ?
(&) @ (B) Qran® ©)  epary (D) prane
How many destructor can be given in a class ?
(A) 1 (one) (B) 2 (two) (C) 3 (three) (D) 4 (four)

a=5,b=4 oMb c=6 erafled Gemeummd Carenetufen S, a=a+b/2xc; :
(A) 16 (B) 17 (C) 42 (D) 60
If a=5, b=4 and c=6, the value of the expression a=a+b/2%c; is :

(A) 16 (B) 17 (C) 42 (D) 60

LTS 0olG6 &TOLEEH QD 2 drer Fidlemenio (inequality) @uisd erg) ?
(A) ! (B) <> C). == (D) #
Which is the inequality operator in StarOffice Calc ?

(A) ! (B) <> ©). == (D) #

G 6oTeu(HeLGTELDMIET 6T STETENLDE| AHH G ?

(A) add(add & ) (B) add()

(C) add(int x) (D) add(int x, int y)
Which of the following is a default constructor ?

(A) add(add & X) (B) add()

(C) add(int x) (D) add(int x, int y)

voidadd : : display() @bs eT(HSSISSM Iq6e0 @end@(pedlen Gl ereme ?
(A) void (B) add (C) add::display() (D) display()
void add : : display( ) in this example what is the name of the class ?

(A) void (B) add (C) add::display() (D) display()
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auarsdler Qarir Hlave b, Goed urssHaid S LTESSHQID TsSmaen
SBIGOD QHEGWD ?

(A) 1.25 (B) 1 <) 2 (D) 2.25
The default top, bottom margins in a document should be inches.
(A) 1.25 (B) 1 C) 2 (D) 2.25

T8l QT W Fre|HeT HOg Sseldsatear CgT@lienusd CETeaTL 6
SETEHFWID Y@L ?

(A) Yeold (B) sreysserd
Q) udey (D) udliurday
Which is a repository of collections of related data or facts ?
(A) Field (B) Database

(C) Record (D) Editing

Tl Liigaild Sleoagisamer 2 (halfésalb, LSlli9Gse6 b Aayndsdng ?
(A) Normal view (B)  Outline view

(C) Notes view (D) Handouts view

Which view allows the user to create and edit slides ?

(A) Normal view (B) Outline view

(C) Notes view (D) Handouts view

6TEl GULMTSo0l960 @UGTelled, Lo euamswTer @6, afldasT dé Camiy
QUIgGUELDLIL|SENET GULPMKIG @I LIl (HeTerg) ?
(A) Media Player (B) Outline (C) Hatching (D) Gradient

Which is embedded in StarOffice Impress to support different audio and video file
formats ?

(A) Media Player (B) Outline (C) Hatching (D) Gradient
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u@&S - 11/ PART - 11
eremeuCuienid Qmug cllamssEns@ wLHb eflp auflsaie eflenwef. 20x2=40
Answer any twenty questions in one or two sentences each.
Q&mH QFWOTESHD TN GTE6T ?
What is meant by Word Processing ?
QFTRIEGD 2 ETSHETETE) GTETDTE) GTETET ?
What is Hanging Indent ?
VLT oolle sTESD CoHé samsS[H eTammTed eTemem ?
What is Date Arithmetic in StarOffice Calc ?
LT Yooldle Hr&GHD LTTenaulh @QusHlser wrenel ? eTr(HSFHIGETL(HS

SIWGEE

Write a note on reference operator in StarOffice Calc. Give example.
sregger Gueranamn awliber Qauour@safler epermy GurglAfealser
wirened ?

What are the three general categories of the data management task ?

MFMSG CTEMTE) GTETE ?
What is Report ?

pafllsaT & Gm&E wansamaril DM eT(Lpgis.

Write about the types of video compressions.

AVI -Ligeud umml GOILL erpgis.

Write a note on AVI format.

@ Hlapsgisadler Yearameantlanil ereueUTm OTHMETD ?
How will you change the slide background ?

Custom Animation 6T&imTed 6Teses ?
What is Custom Animation ?

QUITHET eTETLSET 2 L &(h&H&| eTemem ?
What is the significance of an object ?

uaYentgdlsatien eflenereysear LHM @GDHILIL] cuenrs.

Write note on impact of modifiers.
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GHlGEGEET GTETMTE) ETETET ? HHET CUMELT(HEET WTenel ?
What are tokens ? What are its types ?

break -&L_ L enerullen Lwer wmg) ?
What is the use of break statement ?

C++ Blyedler epemrm (&Sl 19feyser wrene ?

What are the three primary sections of C++ ?

return -S| GTEIMITED GTEITET ?
What is meant by return statement ?

Sjemfl TETMITED CTEIET ? ST CUENSEHET WITENG ?
What is an Array ? What are its types ?

stremp( ) -&mmen Lwer wirg) ?
What is the use of stremp( ) function ?

@eng@pedlen euanrwmILiL] LGS seT wrenel ?
What are the specifications of a class ?

QR QenE@H el eumTUNILILSHSTa CLrgealiqeld wrg ?

Write the general form of class declaration.

Cewpamm Lemll@Llile QFunsmmser ereucurm @QuISsSLLHE e ?

How are functions invoked in function overloading ?

< GHullern QFweurHser wrenel ?
What are the functions of a constructor ?

ryfgHlen LeengEeT wWreanel ?
What are the advantages of Inheritance ?

SlenPLIL56dl eOOWID ETETTE GTemeT ?
What is Call Center ?

senflLGlurm @GDOLD eTermTed eremen ?
What is Computer Crime ?
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L@&S| - 11/ PART - III
eTemeuGWenID 61 elanEsErsE WL Hb ellenL_wafdEsaLb. 7x5=35

Answer any seven questions.

R0 Yaiansdled CaramauliLBb 2 arl ugdaw &L 0Le6), HamsliLoms
LOHNID GN&EE elfl epeld ereucurm CarHGsHEsTD ?

How will you select the required portion of the text in a document using mouse, keyboard
and shortcuts ?

LTTDpool9e enrlLifled L aienent aulgapl L e el Ll ullé o erer
uentls@nseflen GCoueneser eremmen ?

What are the various functions of the icons in the table formatting tool bar in StarOffice
Writer ?

VLT o olN6V STOEHEHIE FTTLSET GTEIDTE) T ? AUDEND L L CLUENEWTS
gratled erliLig LiwemUBSgelmi ? r(h&gsETL(H e elemd@s.

What are functions (in StarOffice Calc) ? How will you use them in the worksheet ?
Explain with an example.

LTTyoollen sra&GH D Cummer GCarssed (Insert Object) H&ETESE &(mHedlL
Ul epLudled o ater LewlE@mger Lpml adleurl.

Explain the various icons in the insert object floating tool bar of StarOffice Calc.

STOUSHET CLUMSSHET - 6HlaTEHES.
Explain the different types of Database.

QauaflCupme - Cordliy wLsflewar Cgriflue (syntax) wHMD
T(H5EIEST(HLar afleurl.

Explain Exit-check loop with syntax and example.

GDILIL] EPELD AMPSSD (PdDEL 55 T(HSSHSETL (N6 afleul.

Explain call by reference method with suitable example.

Qawn@m LentblGLiL eremmmed erenem ? AFem NSl LPEDEEMET 6T(LPGIS.
What is Operator Overloading ? List its rules.

[ Swliys/Turn over



&}AHEEIIINI]IA

6733 22

109. QarHssiiulL Qeaellli@ QupegshE Epssam C++ Hlyadld &mamib

Qevpsaners Smsgl erpsis.

Output : (Assume a=15, b=16)

Debug the following C++ program to get the following output :
Output : (Assume a=15, b=16)

Simple Constructor

Enter values for a and b...15 16
The two integers...15 16

The sum of the variables...31
Simple Destructor

Program:
#include<iostream.H>
#include<conio.h>
class simple
{
Private:
int a;b;
Public
simple()
{
a=b=0;
cout>>"Constructor Simple";
P
-simple()
{

cout<<"\nSimple Destructor";

b

void getdata();

{
cout<<”\nEnter values for a and b...";
cin<<a>>b;

¥

void putdata()

{

cout<<"\nThe two integers..."<<a<<'\t'<<b;
cout>>"\nThe SUM of variables..."<<a+b;

b
¥

void main[]

{
simple s;
s.getdata()
s.Outdata();
}
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110. Gemeu(md C++ Hlrelerm Couefluiigenesr er(pgis.
Find the output for the following C++ program.

#include<iostream.h>
#include<conio.h>
class first
{
int sum;
protected:
int num1, numz2;
public:
first()
{
numl=num2=sum=0;
cout<<"\n First Constructor":

b
void accept()

cout<<"\n Enter the two numbers"”;
cin>>num1>>numa2;

¥
void plus()
{

sum=numl+num?2;
cout<<™\n The sum of two numbers are..."<<sum;

b
}i
class second : public first
{
int sub;
public:
second()

sub=0;
cout<<"\n Second Constructor";

}

void minus()

first::accept();
sub=num1-numa2;
cout<<"\n The difference of two numbers are”< <sub;
by
+i
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void main()

{
second s;
int choice = 0;
cout<<"\n Enter your choice-(1 or 2)";
cout<<"\n 1. Add... \n 2. Subtract...";
cin>>choice;
switch(choice)

{

case 1:
s.accept();
s.plus();
break;

case 2:
s.minus();
break;

+
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